Candy Corn Problems
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If the bases are not involved: fop = _Ol‘fo_m = Szde
. fop bottom side

If bases are-involved: separate your friangles!

1. In the dlagram of AADC below, EB f DC’ AE=9 ED=3,and 48=92,

What is the length of ;4—5 to the nearest tenth?
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2. In the diagram of A4ABC, points D and E are on 43 and CB, respectively, such that

AC||DE. | hases mw]wﬁf
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If AD =24, DB = 12, and DE = 4, what is the length of 4CT Ny 2y
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3. Given AMRO shown below, with trapezoid PTRO MR=9, MP=2 and PO=4.
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What is the length of TR? 'K:iy
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4, To find the distance across a pond from point B to point C, a surveyor drew the”
diagram below. The measurements he made are indicated on his diagram.
Use the surveyor's information to determine and state the distance from poirit B to point
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5. In the diagram below, t triangle ACD has points B and E on sides AC and 4D,
respecuvely, such that BE || CD, AB= 1, BC'= 3.5, and AD = 18. I
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What is the length of 4Z, to the nearest tenth? 7S (/Q
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6. In the diagram of A4BC shown below, DZ || BC. j hq3es 1= gl IWWI‘/‘”[
If AE=6, DE=10,and AC=9, find BC —aqrrie m
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7. Inthe dlagram of A4BC below, DE is paralleI to 4B, CD =15, AD =9, and AB=40,
Find the length of DE. bJSP,S ih ohfec c
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8. In the diagram below of ﬁPQR, ST is drawn parallel to PR, PS'= 2, SQ= 5, and TR= 5
What is the length of OR? s b‘f S0 /,!ojr M Va\ve

. P
316& botd
% —LW”‘?{

‘__.-"

Pt



9. In the diagram of /4 SR4 below, XP is drawn such that ZSKP = ZSRA,

If S% = 10, 5P = 8, and P4 = 6, what is the length of ZR, to the nearest tenth?

1) 4.8 3) 8.0
@7.5 o) pothi 4 133
fop ~ oobhom
/x %X“—‘(’O

= v—(-g —":g'
%//‘C X :27. {

10. In triangle ABC below, D is a point on 45 and E is a point on A€, such th;

If AD = 12, DB = 8, and £C' = 10, what is the length of AC?
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11.In the_diagram below of ARST, L is a point on RS, and Mis a
point on KT, such that ZM || 5T .

IfRL=2,L5= 6, LM =4, and 5T = x+ 2, what is the length of 572
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12. In the d%gram below of ACER, LA || CR, K«’\/@\J

If CL =35 LE=75,and £4 = 9.5, what is the length of A_R, to the nearest tenth?
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